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1

31 192 20 22 25 27 30 32 331372 40 42 45 47 50 52 55 57 60 62 65 67 70 72 75 m

16 153136116105 91 84 8+»8 73 69 63 6 56 53 49 47 44 42 39 38 35 34 32 t

205 22 25 27 30 32 354397 40 42 45 47 50 52 55 57 60 62 65 67 70 m
16 147126114 10 92 8+-§ 79 75 69 65 6 58 54 51 48 46 43 41 39 t

31 = 207 22 25 27 30 32 36 401 42 45 47 50 52 55 57 60 62 65 m
16 149127116101 93 8+-8 76 7 66 61 58 54 52 49 47 44

31

1

31 = 21122 25 27 30 32 35 36,7409 42 45 47 50 52 55 57 60 m
16 152 13 118104 96 85 8<=g 77 71 68 63 6 56 53 5 Vo o
31 = 21,4 22 25 27 30 32 35 374416 42 45 47 50 52 55 m 16
16 155133121106 98 87 8+»3 79 73 69 64 61 57 t
31 - 217 22 25 27 30 32 35378 42 45 47 50 m 8 S
16 15713,512,3108 99 88 8+«»8 74 7 65 t (m)
31 = 22 25 27 30 32 35 37 383426 45 m 75m-70m ;
16 137125109101 9 84 8+wg 75 1t e =es-12t
31 - 22725 27 30 32 35 37 40 m TR -t
16 14,3 13 11,4105 94 87 79 t
31 = 40 m
8 t
27 — 199 22 25 27 30 32 35359 37 40 42 45 47 50 52 55 57 60 62 65 67 70 72 75

m
16 14212211197 9 8+»8 77 7 65 6 56 52 49 45 43 4 38 3534 31 3 28 t

27 — 21 22 25 27 30 32 35371382 40 42 45 47 50 52 55 57 60 62 65 67 70 m

16 15213 119104 96 86 8+»8 75 71 65 61 56 54 5 47 44 42 39 37 35 t

21122 25 27 30 32 35374385 40 42 45 47 50 52 55 57 60 62 65 m

16 152131 12 105 9,7 87 8+-8 76 7,2 66 62 57 54 5 48 45 43 4 t

27 — 216 22 25 27 30 32 35 37 385396 42 45 47 50 52 55 57 60 m
16 15713512,3109101 9 84 8+-8 74 68 65 6 57 53 5 47 t

2,7

1

t
2,7 = 22 25 27 30 32 35 37 392403 42 45 47 50 52 55 m o ¥ v
16 13,712,611,110,3 92 86 8++8 76 7 66 61 58 54 t 16
27 = 22225 27 30 32 35 37 396408 42 45 47 50 m 8 - 03t
16 14 127112104 93 87 8+»3 77 71 67 62 t \\___:i
27 = 22525 27 30 32 35 37 40,1413 42 45 m - (m)
16 14,212,911,4106 95 89 8+w-g 78 72 t ——=T-03t

27 — 23325 27 30 32 35 37 40 m
16 14,813511,9 11 99 93 84 t

AR RN ===
4200kg 700 kg 4200kg 700 kg 4200kg 700 kg

75m 242 m 5 4 23 800 5 8 23100 5 2 22 400

70m 242 m 5 21000 4 5 20 300 4 3 18 900

65m 242 m 4 & 18 900 4 8 18 900 4 1 17 500

60 m 242m 4 16 800 c) 5 16 100 3} 8 14700

55m 242m 3 3 14700 3 3 14700 3 2 14000
50 m (B60A) 24,2m 3 2 14 000 3 1 13700 3 12 600

50 m 18,2 m 5 5 24 500 5 4 23 800 5 3 23100

45m 182m 5 21000 4 5 20 300 4 4 19 600

40m 182m 4 2 18 200 4 1 17 500 4 16 800 égg

H(m) | 692 65,9 60,9 55,9 50,9 45,9 40,9 359 30,9 25,9 20,9 15,9
() | 108 108 108 108 108 108 96 96 96 84 84 84

1708 m

1358 m

100,8 m

l

89,07 m
124,07 m

49,07 m
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ch-PS
hp kW

17 22 = 35— 40

16 12 6 4
- 2 =B85 q009m
16 12 6 4

150 110  596m
12 8 4 2

m/min 0 - 34 = 44 - 70 =» 80 0
t 8 6 3 2

m/min 0 - 44 — 56 = 96 — 116 0
t 8 6 3 2

m/min 68 = 82 = 102 — 136 = 162 34 = 41 - 51 X 68 — 81
t 8 6 4 2 1 16

m/min 0—42(16t) 0—84(81)

tr/min

U/min 0=—-0,7
rpm

m/min 13,5-27

400 V (+6% -10%) 50 Hz

75 LVF 40 Optima 100 LVF 40 Optima
m/min i
Y +25%
+25% v
80 —
70
341

0—100(41) oI5 4
2x12 2x9
4x7 4x52

75 LVF : 100 kVA
100 LVF : 125 kVA
150 LCC : 175 kVA
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